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Write a paragraph of 150 — 200 words on — ‘New India on the Globe’.

OR

Write self-composed poem/short story of any theme of your choice.

WWWW%%@W@%@@WWI

Tl B WdT AT
ST TSI

T FETRN—aEl Terel
fefStea sfear
RIS WIRA AT

1.
2.
3.
4.
5.

As India has entered in the NEW ERA OF DIGITAL WORLD. There are so many Apps launched
recently by the government.

Q.
Q.

Draw logos of five Indian Digital Apps.
Write in one sentence how these apps are useful.

Milestone in the journey of ISRO (Indian Space Research Organisation)

1. Draw and cutout four images of astronauts.
2. On each figure, write the year & description of the achievement of
ISRO as given below: o CARTOSAT-2D
g ' Yeax. - 15 Feb 201
a) Cartosat — 2D c) Avatar é Dusoxdplion-
b) Aditya [Mission to Sun] d) Indian Venusian Orbiter Mission
OR
Make a 3D model of your choice on any one of the following:
Human Eye, Human Brain, Different type of joints in Human body,
Structure of a Dicot Seed.
Instructions
» All work to be done on separate A—4 size sheet with Name, Class/Section & Subject mentioned for each
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subject and complied it in a file.

Maths practice questions to be a done in a separate thin practice copy.
To be submitted to the class teacher on 01 July 2019.

All work to be done by the student only.
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CLASS -5

Write the following numerals in words using commas to separate the periods as per Indian
and International system.

i) 91365048 iv) 46200051

i) 74632109 V) 91302567

iii) 8658920

Write the following in figures.

) Two crore fifty six lakh twenty thousand four hundred eighty one.

i) Ninety seven million forty one.
iii) Fifty five crore seventy seven thousand three hundred thirty two.

Write the difference between the place values of two 7s in 7, 05, 67, 890

Write the following numerals in expanded form.

i) 45,46,382 iii)  72,00,628

i) 197,420,005 iv) 6,44,53,123

Put <> , ‘<’ or ‘=’

) XVI X1V V) XLIV XLIX
iy  XCI CX vi) XLV L

i) CCX CCIX vii)  XCVI XCIX
iv) LXX XLI viii) CDXL CDXX
Write Roman numerals for the following.

i) 104 V) 289 viii) 179
i) 444 Vi) 915 iX) 789
i) 339 vii) 651 X) 99

iv) 576

How many crores are there in 100 millions?
Write the successor of greatest 8 digit number.
Round off the following numbers upto nearest ten thousand and lakhs.

i) 30,89,742 iii) 11,74,982

i) 68,82,76,380 iv) 77,45,00,235

Arrange in column and find the sum.

) 36478923 , 4566979 , 3566659 iii) 46321 + 890001 + 350

i) 47095464 + 2031456 + 7890 V) 33557986 , 7878045 , 86933

Find the difference.

i) 8568436 and 1457304 i)
i) 6984507 and 5260486 iv)

5487205 and 456721
50367412 and 5672504

Find the missing one.

i) Minuend = 9503246
i) Minuend = 94203000

Subtrahend = 503247
difference = 30256768

difference = ?
Subtrahend = ?



Q13. Find the product.

i) 12036 x 213 iii) 41023 x 462 CLASS -5
i) 605874 x 542 iv) 701257 x 756
Q14. Divide
i) 5267459 by 32 iii) 302478 by 99
i) 6005894 by 12 iv) 230645 by 125

Q15. Estimate the value of

) 2960 + 1730 i)  4465x 8
i) 9300 6420 iv) 66306
iii) 1970 + 2140

Q16. Find the prime factorisation of 72 using factor tree method.
Q17. Find prime factorisation of 148 using division method.

Q18. Find HCF using common division method.

) 55, 60 and 75 i) 48,84 and 144
i) 18 and 27 Iv) 64, 72 and 228

Q19. Find the LCM by the prime factorisation method.

i) 30, 40 and 60 iii) 42 and 77
i) 22,132 and 253 iv) 460 and 590

Q20. Find HCF of 18 and 30 by long division method. (Continued division method)
Q21. Find the LCM of 25 and 45 by common division method.
Q22. The LCM of two numbers, 42 and 77 is 462. What is their HCF?

Q23. A wholesaler has 46 packets of greeting cards. Each packet contains 3675 greeting cards. How
many greeting cards are available with the wholesaler?

Q24. The product of two numbers is 1200. If one of the numbers is 60, what is the other number?

Q25. Find the least length of a rope which can be cut into the pieces of length 45 cm, 75 cm and
81 cm.

Q26. A shopkeeper bought 65 bicycles to sell in the market. If the cost of a bicycle is ¥3154, find the
amount that he had to pay for all bicycles.

Q27. The cost of 216 shirts is ¥3,35,232. Find the cost of 1 shirt.
Q28. Divide the largest 8 — digit number by the largest 3 digit number.
Q29. The product of two numbers is 6400. If the LCM of the two numbers is 400, find the HCF.

Q30. Frame word problems: According to given conditions.
1) Rahul scored 150 runs

Raj scored 81 runs
i) 32 boxes
140 cherries each box
iii) First number — 10,000
Second number — 999
X=X=X=X=X=X=X



